SR-2102 / SR-2102-Dl

ﬂuu” WORKBENGH
Kae

Tel: 657-845-5700
Fax: 657-845-5712

ITEM DESCRIPTION QTY

36" FRONT ANGLE POST

60" BACK ANGLE POST

60" BOTTOM DOUBLE RIVET BEAM

60" TOP_DOUBLE RIVET BEAM w/HOLES

24" DOUBLE RIVET BEAM

24" DRAWER MOUNT

26—9/16" DRAWER BEAM

18” DRAWER SIDE BEAM

DRAWER GLIDE RIGHT

DRAWER GLIDE LEFT

JrG
= |Oo|V( (N[O | [WIN|—

60" BACK SHELF BEAM

12 60" SHELF BEAM

13 24" CENTER SUPPORT

14  WORKCENTER DRAWER CHANNEL

15 L—BRACKET

16 DRAWER BOARD

17  SHELF BOARD

18 3/4” TOP_WORK SURFACE BOARD

19  3/8" BOTTOM WORK SURFACE BOARD

20 BACK PEG BOARD

21 #10—24 x 5/8” SLOT ROUND HEAD SCREW

22 #10—24 WING NUT

23  1/4—20 SERATED FLANGE NUT

Ao o |a]e]=|= = =ofo]= === Nl ro| [ o | oo oo

24 1/4-20 x 3/4" SCREW

25  PLASTIC POST CAP

HOLD LEVER
8 DOWN AND PULL

™




